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Unit 4 Outcome 1, Task 1b – Data Analysis

Teacher Advice
This task has been developed within the scope of the Study Design and has been designed to be easily divided into two tasks worth 25 marks each (see below for where the SAC is divided into two parts). To complete the SAC in one part (worth 50 marks), simply delete the cover sheet for part 2. 
The relevant dot points from the Study Design for this task are:
Key knowledge 
· characteristics of high- , middle- and low-income countries
· similarities and differences in health status and burden of disease in low- , middle- and high-income countries, including AustraliaQ 1 – 2 

· factors that contribute to similarities and differences in health status and burden of disease, including access to safe water; sanitation; poverty; inequality and discrimination (race, religion, sex, sexual orientation and gender identity); and global distribution and marketing of tobacco, alcohol and processed foods
· the concept and dimensions of sustainability (environmental, social, economic) and its role in the promotion of health and wellbeing
· the concept of human development, including advantages and limitations of the Human Development Index
· implications for health and wellbeing of global trends including:Q 3 – 5

· climate change (rising sea levels, changing weather patterns and more extreme weather events)
· conflict and mass migration
· increased world trade and tourism
· digital technologies that enable increased knowledge sharing.

Key skills

· describe characteristics of high-, middle- and low-income countries
· evaluate data to analyse similarities and differences between countries in relation to health status and burden of diseaseQ 1 – 2 

· analyse factors that contribute to health status and burden of disease in different countries and discuss their impact on health and wellbeing
· compare health data and other information to analyse reasons for health inequalities within and between nations
· explain sustainability (environmental, social, economic) and its importance in the promotion of health and wellbeing in a global contextQ 3 – 5 

· explain the Human Development Index and evaluate its usefulness in measuring human development of countries
· analyse the implications for health and wellbeing of particular global trends.

Student preparation
Students should be adequately prepared with regards to all relevant key knowledge and key skills dot points before sitting the task. Teachers should read through SAC tasks prior to students completing the task to ensure all relevant content has been addressed.
As well as having an understanding of key knowledge points and the ability to carry out the key skills, students should be able to explain or define all words within the dot points. 
When presented with data, the data should be used at some stage in the related answers. This shows a greater level of understanding of data as opposed to making generalised comments. 
If a question asks for similarities or differences between population groups, students should make reference to both groups in their answer. 
Students should be aware of the difference between health status and factors affecting health status. If a question is about health status, students should link their answer back to a health status indicator or a particular condition. For example, socioeconomic status is an example of a sociocultural factor, not an aspect of health status. 
When students are asked to link to health and wellbeing, the dimensions (physical, social, emotional, mental and / or spiritual) should form the basis of the response. 
Creating one 50 mark task
This SAC has been created to allow simple conversion into 1 x 50 mark task - simply delete the cover sheet for Part 2. 
Time
This SAC has been developed to be completed in a 60 minute timeframe. Teachers may want to add reading time to simulate the end-of-year examination. It can also be split into two tasks (worth 25 marks each) if smaller tasks are preferable. If so, these tasks should be completed in a 30 minute timeframe. 
Materials
Students only require a pen to complete this task. 
Conditions
This task should be completed under test conditions. It has been written to reflect the end-of-year examination and provides valuable practice for the skills required to succeed in the examination. 
Students should not have access to any notes, mobile phones, calculators or any other electronic device. 
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• Students are permitted to bring into the assessment room: pens, pencils, highlighters, erasers, sharpeners and rulers.
• Students are NOT permitted to bring into the assessment room: blank sheets of paper and/or white out liquid/tape.
• No calculator is allowed in this assessment.

Materials supplied
• Question and answer booklet.
• Additional space is available at the end of the booklet if you need extra paper to complete an answer. Ensure any extra space used is labelled clearly with the question number. 

Instructions
• Write your name and student number in the space provided above on this page.
• All written responses must be in English.




Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic
devices into the assessment room.

This assessment task (including teacher advice and answer guide) remain the copyright of the Health Teachers’ Network. Schools that have purchased this task are authorised to reproduce it for use within their school only. Any other use or reproduction of this task without the permission of the Health Teachers’ Network is prohibited. 
Question 1  (17 marks)

	
	Income group
	Life expectancy 
	DALY per 100 000 
	DALY (%) due to unsafe water
	Deaths (per 100 000) due to unsafe sanitation
	GNI per capita ($)

	Australia 
	High-income
	82.9
	24 508
	.02
	.02
	51 360 

	Fiji
	Middle-income 
	69.9
	35 978
	1.11
	2.7
	4 970

	Ethiopia 
	Low-income
	65.5
	36 768
	8.47
	37.6
	740


Source: Adapted from World Bank and IHME, 2019. 
a. Briefly explain how countries are classified as either high-, middle- or low-income.                               2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Using data, describe the relationship between GNI per capita and life expectancy.		                     2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Briefly explain poverty and include one way that it can be measured. 			                     2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
d. Besides influencing access to safe water and sanitation, explain how poverty influences life expectancy 
in low-income countries. 							                                  2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________




e. What is meant by ‘safe water’? 								                      1 mark
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
f. Explain how lack of access to safe water contributes to a variation in burden of disease between 
Australia and Ethiopia. 									                     2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
g. What is meant by ‘sanitation’. 							                                   1 mark
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
h. Explain how unsafe sanitation contributes to a variation in health status between Australia and 
Ethiopia. 									                                  2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
i. Besides those shown in the table, outline three characteristics common among high-income countries compared to middle-income countries. 					                                               3 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________


Question 2  (8 marks)
The following graph shows the number of maternal deaths over time, according to income group. 

Source: adapted from World Bank data, 2019.
a. Using data, describe the overall change in the number of maternal deaths over time. 	                     2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Identify the income group that contributed the most maternal deaths in 2017. 		                      1 mark
___________________________________________________________________________________
c. Explain how inequality due to sex may contribute to the difference in the number of maternal deaths 
between different income groups. 						                                  3 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
d. Explain how reducing inequality among females may promote health and wellbeing.                             2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
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• Students are permitted to bring into the assessment room: pens, pencils, highlighters, erasers, sharpeners and rulers.
• Students are NOT permitted to bring into the assessment room: blank sheets of paper and/or white out liquid/tape.
• No calculator is allowed in this assessment.

Materials supplied
• Question and answer booklet.
• Additional space is available at the end of the booklet if you need extra paper to complete an answer. Ensure any extra space used is labelled clearly with the question number. 

Instructions
• Write your name and student number in the space provided above on this page.
• All written responses must be in English.




Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic
devices into the assessment room.

This assessment task (including teacher advice and answer guide) remain the copyright of the Health Teachers’ Network. Schools that have purchased this task are authorised to reproduce it for use within their school only. Any other use or reproduction of this task without the permission of the Health Teachers’ Network is prohibited. 
Question 3  (8 marks)
The following graph shows the number of mobile phone subscriptions per 100 people in Australia and different income groups in 2017. 

Source: World Bank, 2019. 
a. Outline one similarity and one difference in the number of mobile phone subscriptions (per 100 
people) between low- and high-income countries as shown in the graph. 		                                  2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Outline two potential advantages to health and wellbeing of increasing access to digital technologies 
such as mobile phones. 									                     4 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Outline one potential disadvantage to health and wellbeing of increasing access to digital technologies 
such as mobile phones. 							                                               2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
Question 4  (8 marks)
The three dimensions of sustainability are interrelated, meaning they influence each other. 
a. Define sustainability according to the United Nations. 					                     2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Identify two dimensions of sustainability and explain what is meant by each one.                                   4 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Using the two dimensions identified in part b., explain one way that each dimension can affect the 
other.  									                                               2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________

Question 5  (9 marks)
	
	Maternal Mortality ratio (per 100 000 live births)
	Mean years of schooling
	Population with at least some secondary education (%) - female
	Gross National Income per capita ($PPP)
	% living on less than US$1.90 per day

	Australia
	6
	12.9
	90
	43 560
	.7

	Burundi
	712
	3.0
	7.5
	702
	71.8

	Cameroon 
	596
	6.3
	32.5
	3 315
	23.8

	Senegal 
	315
	3.0
	11.1
	2 384
	38.0

	Yemen
	385
	3.0
	18.7
	1 239
	18.8


Source: UNDP Human Development Report, 2018 Statistical Update and World Bank, 2019. 
a. Based on the information provided, identify the country that would have the lowest HDI and justify 
your choice. 										   	       3 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Explain two likely differences in human development between Australia and Senegal based on any of 
the information provided in the table. 								       4 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Outline two strengths of the HDI in measuring human development.                                                       2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
END OF QUESTION AND ANSWER BOOKLET
Extra space for responses
Clearly number all responses in this space.
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________

Answer Guide
Please note that these answers are a guide only and do not represent every possible correct answer. 

1. a. Students receive two marks for explaining how countries are classified as either -high-, middle- or low-income. For two marks, answers should make reference to gross national income per capita and the fact that there are set values (or thresholds) for each group. For example: 

The World Bank collects data relating to gross national income per capita and then classifies the country based on a set of values that determine whether it is high-, middle- or low-income. 

b. Students receive one mark for describing the relationship between GNI per capita and life expectancy and another mark for the correct use of data. For example: 

As GNI per capita increases, so does life expectancy. For example, Ethiopia has the lowest GNI per capita ($740) and the lowest life expectancy (65.5) and Australia has the highest GNI per capita ($51 360) and the highest life expectancy (82.9). 

c. Students receive two marks for explaining what is meant by ‘poverty’. Examples worth one mark include:  

· Poverty relates to deprivation of resources. It can be measured by the proportion of those living on less than US$1.90 per day. 
· Poverty exists when people cannot access the resources they need for a decent standard of living. It can be measured by those living on less than 50% of the country’s average income.
· Poverty relates to an inability to access resources such as food, health care, education and adequate housing. Poverty can be measured as the proportion of those living below a poverty line set by the government of the country in which they live. 

d. Students receive two marks for explaining how poverty can influence life expectancy in low-income countries. Note that these responses can link to any relevant factor (besides safe water and sanitation) and do not have to be aligned with those identified in the Study Design. Answers worth two marks include: 

· Poverty often means that people in low-income countries cannot afford education. This means that they are less likely to understand the risks associated with unsafe sex which increases rates of HIV/AIDS. HIV/AIDS can cause premature death and contribute to lower life expectancy. 
· Poverty in low-income countries can mean that people cannot afford health care. This means that many conditions go untreated which can contribute to premature death and lower life expectancy. 
· Poverty can mean that more people experience food insecurity. This can mean that immune system function is decreased which can mean that infections are more likely to cause death, contributing to lower life expectancy. 
· Poverty contributes to more people living in poor quality housing. This means that people are more likely to rely on solid fuels in their house which can increase mortality rates due to respiratory diseases, which contributes to lower life expectancy. 

e. Students receive one mark for briefly explaining what is meant by safe water. There are a number of ways students can answer this question. Answers worth one mark include: 

· Safe water relates to having a clean water supply that can be used to sustain human life without making people sick. 
· Safe water is water that is not contaminated with pathogens.

f. Students receive two marks for explaining how lack of access to safe water contributes to a variation in burden of disease between Australia and Ethiopia. Answers worth two marks include: 

· Ethiopia experiences greater burden of disease due to lack of safe water than Australia. The burden of collecting water often falls on women and girls. This can increase the YLD as a result of neck and back injuries in Ethiopia compared to Australia. 
· Lack of access to clean water increases the risk of infectious diseases such as dysentery which is a cause of YLL in low-income countries like Ethiopia compared to Australia, where rates are much lower.   
· If women and girls have to travel long distances to collect water in Ethiopia, there is a greater chance of them being physically and sexually assaulted which contributes to YLD. The DALY caused by lack of water in Australia is much lower, meaning this is not as much of an issue. 

g. Students receive one mark for briefly explaining what is meant by sanitation. There are a number of ways students can answer this question. Answers worth one mark include: 

· Sanitation relates to the removal of hazardous wastes from the immediate environment.
· Sanitation relates to hygiene and the removal of human wastes to prevent illness.

h. Students receive two marks for linking unsafe sanitation to health status. Students can link to any aspect of health status in this response. Answers worth two marks include:  

· Ethiopia experiences a significantly higher mortality rate due to unsafe sanitation than Australia. Unsafe sanitation in Ethiopia can mean that water courses are contaminated with pathogens leading to higher rates of infectious disease and death. 
· Unsafe sanitation in Ethiopia can mean that soil is contaminated with human waste that can then contaminate food. This contributes to a higher rate of death than in Australia from this cause. 
· Unsafe sanitation in Ethiopia can mean that people have to walk a distance to relieve themselves. This increases their exposure to people who may cause physical assault and even commit murder, which can contribute to the lower life expectancy in Ethiopia compared to Australia. 






















i. Students receive one mark for each characteristic they outline for a total of three marks. Some reference should be made to both high- and middle-income countries in each response to be eligible for full marks. Answers worth one mark include: 

· Access to safe water is often greater in high-income countries compared to middle-income countries. 
· Sanitation systems are generally more established in high-income countries compared to middle-income countries. 
· Levels of gender equality are usually higher in high-income countries compared to middle-income countries. 
· High-income countries usually have better social security systems than middle-income countries. 
· Health systems are generally more established in high-income countries compared to middle-income countries. 
· High population growth rates are usually lower in high-income countries compared to middle-income countries. 
· Housing quality is generally better in high-income countries compared to middle-income countries. 
· Infrastructure is usually more established in high-income countries compared to middle-income countries. 
· High-income countries generally trade more on the global market than middle-income countries. 

2. a. Students receive one mark for explaining the overall change in maternal deaths over time and another mark for the correct use of data for a total of two marks. For example: 

The number of maternal deaths has decreased over time from around 325 000 in 1990 to around 200 000 in 2017.

b. One mark is awarded for ‘lower middle-income’ or ‘middle-income’. 
c. Students receive three marks for linking an aspect of inequality due to sex to higher rates of maternal mortality in lower-income countries compared to higher-income countries. Examples include: 

· Young females in low-income countries are more likely to be forced into marriage than young females in high-income countries. This can mean that girls are more likely to get pregnant which can contribute to higher rates of maternal mortality as their bodies are not fully developed and less able to cope with pregnancy and childbirth. 
· Women in low-income countries may not have the same opportunities for education as they do in high-income countries. This may mean that they get married earlier and have children earlier, which can increase maternal mortality rates compared to high-income countries where most females can access education. 
· Women in high-income countries may be better able to seek employment and then spend their money on resources which may promote health, such as food and health care, compared to those in low-income countries. This can assist in preventing complications associated with pregnancy and childbirth and contribute to the lower maternal mortality rate experienced in high-income countries. 
· High-income countries may have greater gender equality than low-income countries. This may mean that women in high-income countries have more say in terms of family planning which can reduce the risk of maternal mortality by being able to space their births.  



d. Students receive two marks for linking reduced inequality to the promotion of health and wellbeing. Students can link to any dimension in this response. Answers worth two marks include: 

· With improved equality, females are more likely to be able to attend school or get a job which can enhance feelings of purpose in life, promoting spiritual health and wellbeing. 
· Levels of violence against females would decrease if equality was improved. This can promote physical health and wellbeing as females would be less likely to sustain injuries. 
· With equality, females would be more able to spend time socialising with friends instead of staying home. This promotes relationships and enhances social health and wellbeing. 
· If females experienced greater levels of equality, they would feel more valued in their family and society as a whole. This can promote self-esteem as females would feel better about themselves. 
· If females experienced a higher level of equality, they would be able to express their emotions more freely to their loved ones, including their husband. This can assist in dealing with negative emotions and displaying resilience. 

3. a. Students receive one mark for outlining a similarity and another mark for outlining a difference between low- and high-income countries. For example: 

Similarities

· Both low- and high-income countries experienced a period of significant increase in relation to the rate of mobile phone subscriptions between 1990 and 2017. 
· Both high- and low-income countries experienced a plateau in the rate of mobile phone subscriptions from around 2015. 

Differences

· The rate of mobile phone subscriptions began to increase significantly in high-income countries in the mid-nineties, whereas the increase did not begin in low-income countries until around 2003. 
· There were significantly more mobile phone subscriptions per 100 people in high-income countries in 2017 compared to low-income countries. 

b. Students receive two marks for each link they make between increased access to digital technologies and advantages for health and wellbeing. Students can link to any dimensions and should ensure they do not double dip by using two similar responses. Answers worth two marks include: 

· Mobile phones are often used to increase disaster preparedness. If people receive early warning about threats such as tsunamis and bushfires, they are more likely to be able to flee which can reduce their risk of injury or death, promoting physical health and wellbeing. 
· Digital technologies can be used to increase social connectedness. People can stay in regular touch with family and friends which can enhance relationships and promote social health and wellbeing. 
· Mobile phones can be used to access educational materials. This can increase the ability of people to learn skills required for employment. They are then more likely to get a paid job which can provide a sense of purpose in life (spiritual health and wellbeing). 
· Digital technologies can increase access to health care by allowing users to access self-care and diagnostic information. This can reduce stress as people feel they can access this information when issues arise, promoting mental health and wellbeing. 
· Governments use digital technologies to keep records relating to the population which means more people are likely to be registered as citizens of the country in which they live. This means that they are more likely to be eligible for services such as public health care which can reduce the symptoms of disease, promoting physical health and wellbeing. 

c. Students receive two marks for making a link between increased access to digital technologies and a potential disadvantage for health and wellbeing. Students can link to any dimension. Answers worth two marks include: 

· Digital technologies can sometimes be used to access a person’s personal information. This can then be used to extort money which can leave the person living in poverty. As a result, they may not be able to access resources such as food and water which can increase their risk of infectious diseases (physical health and wellbeing). 
· Digital technologies can be used to access indecent content such as child pornography. This can mean that more children are subjected to these crimes which can contribute to mental health conditions such as anxiety and depression.
· The internet can be used to access dangerous goods and information. For example, people can access information on building weapons such as home-made bombs. This can contribute to injuries among victims, impacting their physical health and wellbeing. 
· Digital technologies can be used to bully and harass others. This can contribute to stress and anxiety among the victims, impacting mental health and wellbeing. 

4. a. Students receive two marks for accurately defining sustainability according to the United Nations. One mark can be awarded if the definition is close but not completely accurate. An example worth two marks is:

Meeting the needs of the present without compromising the ability of future generations to meet their own needs.

An answer worth one mark could be: 

Meeting the needs of the present without compromising the needs of the future. 

b. Students receive one mark for each dimension of sustainability they identify and another mark for briefly explaining what it means for a total of four marks. Answers worth two marks include: 

· Social sustainability can be defined as creating an equitable society that meets the needs of all citizens and can be maintained indefinitely.
· Economic sustainability relates to ensuring that average incomes in all countries are adequate to sustain a decent standard of living and continue to rise in line with inflation and living costs in the future.
· Environmental sustainability relates to ensuring the natural environment is used in a way that will preserve resources into the future.















c. Students receive two marks for explaining how their selected dimensions of sustainability can affect each other. Note that students can use a different example for each link. Examples worth two marks include: 

· Having sustained access to safe water (environmental) means people are less likely to get sick and so can continue working and earning an income. This promotes economic sustainability as average incomes are more likely to be rise. With higher average incomes, more money can be invested in sustainable housing which promotes environmental sustainability. 
· Promoting gender equality into the future (social) means that females will be more likely to work which increases average incomes (economic). With fewer people living in poverty (economic), more people will be able to attend school which promotes education (social). 
· Experiencing economic growth into the future (economic sustainability) means that more money is available for public education (social sustainability). Maintaining high levels of education means the population will be more equipped to develop new industries as time goes on. 
· Maintaining peace and security (social sustainability) means that fewer ecosystems are destroyed as a result of conflict (environmental sustainability). By maintaining biodiversity (environmental), people will have access to more nutritious foods which can assist in them participating in employment and accessing resources such as housing, education and health care (social sustainability). 
· Environmental sustainability means that people around the world will have ongoing access to clean water and air which reduces rates of ill-health in the community (social). Having a healthier population means that more resources can be put into sustainable energy (environmental) production as less will be spent on treating illness. 
· With a growing economy (economic sustainability), more money can be put into sustainable resources such as forestry and aquaculture (environmental). With sustainable forestry and aquaculture, these resources can be used to generate an income which can assist in keeping average incomes high over time and therefore promotes economic sustainability. 

5. a. One mark is awarded for Burundi and two marks for the justification which should make reference to mean years of school and GNI per capita. For example: 

Burundi would have the lowest HDI as although they have the same mean years of schooling as Senegal and Yemen, their GNI per capita is the lowest of the three countries. 




















b. Students receive two marks for each link they make between an indicator of their choice and differences in the level of human development experienced between Australia and Senegal. Students can use the same indicator for both links or a different one for each. Answers worth two marks include: 

· Higher mean years of schooling in Australia means the population has higher levels of education than those in Senegal. This gives people greater choice in relation to the work they do which can mean that people are leading lives they value. 
· The higher Gross National Income per capita in Australia increases the ability of people to purchase the resources required for a decent standard of living such as food and health care, compared to Senegal where average incomes are lower. 
· Higher mean years of schooling in Australia means people, especially women, have more choices in the decisions that affect their lives such as if and when they get married as they are not as reliant on men for their survival, compared to those in Senegal. 
· Lower maternal mortality rates in Australia mean that women are more likely to survive this process and care for their children into the future, compared to Senegal. This means that children are more likely to be able to access resources such as education which increases their access to knowledge.  
· [bookmark: _GoBack]As females are more likely to access secondary education in Australia compared to Senegal, more females will be able to access paid employment. This means that they are more likely to lead lives they value as they are participating in the decisions affecting their lives. 
· Australia has lower levels of poverty than Senegal. This means that Australians are more likely to be able to access the resources required for a decent standard of living such as health care, housing, food, water and recreation. 

c. Students receive one mark for each strength of the HDI they outline for a total of two marks. Answers worth one mark include: 

· The HDI takes more than just average incomes into account. 
· It provides an indication of opportunities for education, which reflects access to knowledge.
· Average income reflects the ability to access the resources required for a decent standard of living.
· It makes comparison easier, as numerous statistics do not have to be sorted through and compared.
· The HDI has captured the attention of media, policy makers, communities and individuals and, as a result, has raised awareness of the importance of human development.
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High-income	1990	1991	1992	1993	1994	1995	1996	1997	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007	2008	2009	2010	2011	2012	2013	2014	2015	2016	2017	2.2996727551302301	2.2312095958185703	2.1320968497778798	2.06714420409926	2.0211534426094198	1.93226640983503	1.85870450359506	1.83468589293121	1.75726623374864	1.7813739364892398	1.7690308293500701	1.7612470294105	1.74227202485907	1.8458255584816199	1.9493503821703599	2.0165921043235402	2.0617145856884198	2.0450088589402302	2.0804978611047802	2.15334870423853	1.9934810754888899	2.0212413529334499	2.0234297340512399	2.0744681145536901	2.0572686154343001	2.06913744857063	1.98072955347781	1.92920141529463	Upper middle-income	1990	1991	1992	1993	1994	1995	1996	1997	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007	2008	2009	2010	2011	2012	2013	2014	2015	2016	2017	41.631776846014098	39.358776872680799	39.021584207639897	38.132538288838099	37.462427148083201	35.699478316696599	33.972328144016295	32.1203068047516	30.409612676281398	29.420012977328	27.640211886159999	25.448769014049098	24.501169828378799	22.689902691752199	21.324760549892101	20.6826011231331	19.079641523175503	18.424423229222899	17.617399644100299	17.418639476731098	15.9688220514844	14.6080544313683	13.779402444840599	13.3982535776414	12.808752930327101	12.599115031686901	12.266478099012	11.926936136292101	Lower middle-income	1990	1991	1992	1993	1994	1995	1996	1997	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007	2008	2009	2010	2011	2012	2013	2014	2015	2016	2017	217.581124607829	217.07116620133598	221.03641606680199	215.21869147235401	212.05245167259798	211.73973996958	208.26461132496399	211.064651461089	212.926387302808	212.596191951424	210.501808130781	203.456966082967	194.49827779863202	184.597465552975	178.52258269017801	176.23865781829301	171.75899585796401	166.347785155699	161.686523147484	157.969285466396	155.587212539837	149.04720209462099	138.44339832559999	131.205117296682	126.56811451591	120.938948360701	118.76158319404399	117.013341610648	Low-income	1990	1991	1992	1993	1994	1995	1996	1997	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007	2008	2009	2010	2011	2012	2013	2014	2015	2016	2017	63.292317300000001	63.619572251843103	64.590147316628105	65.795028945227202	66.331103920489298	67.319211786839602	67.751678819628694	67.357661092468589	67.426025946684405	67.032470104534298	67.020013131343205	66.459253305452904	66.452969555122095	66.896512216617296	67.390683398002295	67.306545968527502	67.4884040615609	67.706057689351496	68.210018319110702	68.511746219244699	68.545174294056096	68.144025767919103	66.917716194556789	65.723253302886604	64.630057579488692	63.679369856988899	62.920064483323095	62.534473660691802	
Maternal deaths ('000s)




Australia	1990	1991	1992	1993	1994	1995	1996	1997	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007	2008	2009	2010	2011	2012	2013	2014	2015	2016	2017	1.085255106	1.6874775719999999	2.8422822710000002	3.9010647020000002	6.8222218999999997	12.40267674	21.837066480000001	24.78937693	26.348717619999999	33.476264350000001	44.907548509999998	57.77295033	65.057128320000004	72.838606870000007	82.613021810000006	91.012838000000002	96.045389420000006	101.4958754	103.64299990000001	102.1204248	101.71760810000001	105.8238999	106.64341880000001	107.72878900000001	106.7533735	108.27933090000001	110.05209019999999	112.6886209	High income	1990	1991	1992	1993	1994	1995	1996	1997	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007	2008	2009	2010	2011	2012	2013	2014	2015	2016	2017	1.048133617422337	1.4935412420981025	2.0801422744352567	2.9713701039159313	4.6714615576266398	7.3818124592229548	11.515732972373376	16.35414153426667	23.470812842264237	34.409029357169317	48.028704255104053	56.612767514749002	61.967867209717554	67.847804565405511	74.840639421292934	82.602538525507853	90.811759137378942	99.632135682918772	104.52140704860106	108.03985125410804	110.29645268739226	114.3201907997734	116.95031324584201	118.93475507504388	122.50793164131434	124.32649537284843	125.44716004349878	125.54160645063924	Middle income	1990	1991	1992	1993	1994	1995	1996	1997	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007	2008	2009	2010	2011	2012	2013	2014	2015	2016	2017	7.9971004630614087E-3	1.6061638549970399E-2	3.2195059886654068E-2	6.2953045863074597E-2	0.13232665881465638	0.26346019228991385	0.4660123539530453	0.8301383506136405	1.3504534214700441	2.4405759847809434	4.4305085728397646	7.0114752178947022	9.8412178368518237	13.411600643422291	18.521297728572357	25.334618795803969	33.557827651935121	42.914991578590389	53.471455009077545	63.124441842898158	73.631444422346831	82.211022491859026	86.723894651088429	91.657355618212151	95.137620555082862	96.144882727571357	100.5203385642873	103.71048465840971	Low income	1990	1991	1992	1993	1994	1995	1996	1997	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007	2008	2009	2010	2011	2012	2013	2014	2015	2016	2017	0	0	5.3078011305225366E-4	1.7705343665572629E-3	3.1322420245590839E-3	6.9363176875221963E-3	1.1305055754865852E-2	2.2236686534762139E-2	5.4502328125371632E-2	0.13551763352241616	0.3112847061547952	0.60336833418616098	1.0805840945205258	1.9787071699820964	3.222368380126992	4.6800491228355172	8.1484967018307675	12.684521122409642	18.973940117442769	24.23810276360274	30.533641838943989	37.290675122083066	42.919023897426833	49.774170342226583	55.109847315879165	59.629535452131996	58.517552055270301	58.874870090423542	Year
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